Year 3 & 4 Evergreen Homework
	Spellings 

accident 
accidentally 
actual
 actually
 address
 answer
appear
 arrive 
believe 
bicycle


Please revise these spelling words. Write them out in your books. Use a dictionary or online (google) to find the meanings of these words. Write this down in your homework books. 

Due: Tuesday 15th 
We will be having a class spelling test so please make sure you revise properly. 



	Times table 

As part of your maths work it is important for you to revise your times table. 
Please use the times table sheet in your homework book to revise your 3 and 4 times table. 

Answer the following questions as well.

a) 3 x 4 = 
b) 3 x 3 =
c) 3 x 5 =
d) 3 x 2 =
e) 3 x 9 =
f) 3 x 6 =
g) [bookmark: _GoBack]3 x 7 =
h) 3 x 1 =
i) 3 x 11 =
j) 3 x 8 =
k) 3 x 10 =
l) 3 x 12 = 
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Due: Tuesday 15th 
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3 Times Table Activities

Count in 3s and colour in the grid: Work out these answers:

12| 3|4 |s g3xs=_ 93x7=

b)3x3= h)3x1=
7 8 9 10 n —_—

3x5-= )3x11=
13 14 15 16 17 -

d)3x2-= j)3x8=
19 20 21 22 23

€3x9-= k)3 x 10 =

25 2 27 2 29
¢ ¢ flaxe=__ )3x12=

31 32 33 34 35

How many pieces of fruit are there?
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